
Lecture 9 - Oct. 3

TDD with JUnit

Deriving Test Cases
JUnit Test Method vs. Method Under Test
Regression Testing
JUnit Test: An Exception Not Expected



Announcements/Reminders

• Written Test 1 result to be released Fri or Mon
• Lab1 due tomorrow (Friday) at noon
• Lab2 to be released tomorrow



Review: Specify-or-Catch Principle
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Review: Specify-or-Catch Principle
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Coming Up with Test Cases: A Single, Bounded Variable

Boundries:
Counter.MIN_VALUE <= c.value <= Counter.MAX_VALUE

c.value == 0 c.value == 1 c.value == 2 c.value == 3

c.increment()

c.decrement()
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A Class for Bounded Counters



JUnit Test Method vs. Method Under Test

@Test
public void test() {
  MyClsss o = new MyClass();
  assertEquals(23, o.getValue());
}
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Test-Driven Development (TDD): Regression Testing
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A Default Test Case that Fails

Q: What is the easiest way to making this test pass?

fail)) =

Il

assertime Cfase(twe);



Examples: JUnit Assertions (1)
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Examples: JUnit Assertions (2)
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What if increment is 
implemented correctly?

What if increment is 
implemented incorrectly?
e.g., It throws VTLE when 
        c.value < Counter.MAX_VALUE

Calling c.increment() 
when c.value is 0 should not
trigger a ValueTooLargeException.

Expected Behaviour:

JUnit: An Exception Not Expected
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Running JUnit Test 1 on Correct Implementation

3 -> Correct
Xa imp.

⑯ D

0 - I

1.value = = PPredictivelt value O O

as
=

/
~

X



Running JUnit Test 1 on Incorrect Implementation
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